Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image2.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image4.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image6.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image8.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image10.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image12.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image14.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image16.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image18.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image20.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image22.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image24.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°) 
Вычислить:
1) arcsin(-1)
2) arccos(0)
3) arcos(-10°) если arcos(170°)=a
4) tg(a), если cos(a)=[image: image26.png]



5) sin(105°)
6) cos(75°)
7) tg(80°)ctg(100°)  
